Calculus 12

Ch. 2: Derivatives

Exercise 2.6 — Practice Problems
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Ch. 2: Derivatives

-1
h) y=\/9—4_—§ - Ao 2]
=il
= H(q-H) *
Y L*-(—é(q—xl)-é/z. ;Lx>

1—3/1
-2(q-) -2k

:f Hyx !
(a- D'

-
-—

) y=(1+2vx)°
5 .
}/: §(\+ lx{) -(%.'Zx-’t-

= G(e2t) - L
_ 5

- 6({4—1&1) "
|

D oy=vx+vx = (X*'@)é

t -1 ~1
7o gl (1 )
- ! L \+L . J _2:&144
2 ()2 z@) 260 2R
LI I+

k) y=x—3Y1+x°—6x10

by
2 %= ( [+ x§~6xm)

R 7
7‘: | - é((txg—éxl ) 3 -(qu—-éos)

2| - (qu'éo'(q)

o | “/g(xq-llxq)
5( (+xs—-6x‘°_)lbs/

B+ 6x'°ﬁu$'

) y=x%+(x%-1)°

Y T Qe + 50 0 2y

2[1- Gt
(1l + 3>~ Gae'o,) T

d

2. Ify =u*+ 5u?, where u = x> + 2x2 + 1, find -c% Leave your answer in terms of u and x.
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7. Find the equation of the tangent line to the curve y = (x% — 3)2 at the point (2, 1).
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9. IfF(x) = f(g(x)), where g(2) = 4,9'(2) = 3,and f'(4) = 5, find F'(2).
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10. If G(x) = h(p(x)), where h(5) = 1,h'(5) = 2,h'(1) = 3,p(1) = 5,andp’(1) = 7, find G'(1).
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11. If f is a differentiable function, find expressions for the derivatives of the following functions.
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b) Sketch the graphs of the function f(x) = |x| and its derivative.

f

Ve

fl

ll"

—

c) Use the result in part (a) to differentiate the function g(x) = x|x|
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